[ There is just ONE number to :

change to whatever number
desired and the whole model
will recalculate showing 'Phi’
constant (chart on the right).)

PYTHAGOREAN COMMA; always the same neg-entropy curve to 'PHI-constant’

Phi calculated from a Hertz progression or a RATE, rather than what is usually calculated as a RATIO. A\
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Detail of Phi at the ‘Phi-Point (0.61803...) between steps 12 & 13
http://www.gci.org.uk/movies/PC_12_13.mp4
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don’t commute 7 ‘Perfect Octaves’ do commute

with 12 ‘Well Tempered Fifths’ Feedback the differences between

& 12 ‘Well Tempered Fifths’ & Phi’ results at exactly the ‘Phi-Point’ between steps 12 & 13.




